	Перевод единиц массы.
Вариант 3.

5 ц = ? кг
3 кг = ? т
19 г = ? кг
4 г = ? мг
5 т = ? кг
6 кг = ? г
7 кг = ? ц
10 мг = ? г
	Перевод единиц массы.
Вариант 4.

3 г = ? кг
4 кг = ? ц
8 мг = ? г
30 кг = ? т
11 кг = ? г
12 ц = ? кг
100 г = ? мг
17 т = ? кг

	Перевод единиц массы.
Вариант 1.

3 кг = ? г
6 кг = ? т
25 мг = ? г
7 ц = ? кг
13 г = ? кг
10 т = ? кг
2 кг = ? ц
9 г = ? мг
	Перевод единиц массы.
Вариант 2.

5 кг = ? ц
6 г = ? мг
12 кг = ? т
8 кг = ? г
3 ц = ? кг
15 мг = ? г
2 т = ? кг
7 г = ? кг



